
220 PIBMCATIONS OK THE DOMINION OBtSERVATORY

Tho ppri(»l was considorod fixed from tho early <)l>servati()ns. 01)sor\ati()n ('(luations

wore buill up in the usual way for the other elements and a solution ctlected. Correspond-

inj; to tho normal places at tho intersections of tho curves an ohsor\ation equation, suit-

ably weighted, was formed for both i)rimary and secondary. .Making tho substitutions,

y = 5/v

^. = 5A',

2 = 100 he

u = 100 6a)

V = [i.s;?oo()] hT
the following observation equations resulted. Owing to the similarity of coefJicionts

for w and 7', it was found necessary to consider T a.s fixed.
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